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Al (1) QG 44l Guala 591 2519,
Instructions : Use of Simple Calceulator s allowed.
(2) snAv A [aAdldl suuami sna9,

Giraph papers will be given on request.
(3) wmell s a1y ursn s sald o,
Frgure (o the night hand side indicate my;

Lo (@) v [adyord donasn geed (444 gond

State probability mass function ol Poissoy

AYAVOR

sty [adzi Aetandl decd P

State  probability  mass  functio cr geometric  distribution.  State its
properties.

(b) 200 Wil 15 Y2 5Ml

The probability o

AMIAAL 0.0]1 £9. Al 4LULHL 6

m

probabihity that
(1) 914 M4
there |

(i1) ' WAl elafl dmianL Ml

AYAU/OR

4 X "2 3P(X =2) = P(X =4) ¢l dl ddl 4245 i [Quwsl sl
<2) Hadl. [e *=0.0025)

For a'Poisson vanate X, if 3P(X = 2) = P(X = 4). Obtain mean and variance. Also
find P(X <2). [e *=0.0025]

w5 AYeHL 5 OlsL 24 7 lsElul 9. 25 el By 4 Alsdnil uRE s
ald dl (i) 2 sl 24 2 ol () o4l o olsuel waal ol o
91531211l ueall-l Aeuant ulul. 4

There are 5 boys and 7_g_irls in a group. 4 persons are selected one after the other
from it. Find the probability of selecting (i) 2 boys and 2 girls (11) All boys or girls.
AUYAVOR
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e CTH] 50 %ot 19, BUL 5 oeor wluon 9, o o) g WYl als vy
2 oleoy dumi 2ud dl d 14 >4 HRL oot vulanl o el ool sty ogm
BuRid wflawn oieo-l s wid [qas BL YL Youq|,

There'arcﬁrs defective bu]l?s: in a lot of 50 bulbs. 2 bulbs arc taken one afler the other
!‘rm_n 1. Find the probability that none of them is defective. Also find mean and
vanance of defective bulbs.

2. (@) 8 [evel [ddrei deuaq qee [Gey AL L Al qut Gualog 31

State li}e probability mass function of negative binomial distribution.
properties and uses.

HYA/OR

Az [ddzerd Aeuaq aeq 48 gougl Al el dar Gusal
State the probability mass function of geometric distribution,
and uses.
(b) 25 Al (Mot i ddl douast % 0. dl zan wied o
Al Aadl Al 984l Wi ot A4 4 siouGe
ETELTRET
The probability that a person can hit a larget 1s Y,
hit the target 6" time at the tenth trial. Also [i
of failures before 6" trial.

O

AYA/O

ws dqadl sAlZlMi 228 el 4 (¢
9. a5 [aenedld 5165 215 wsAl wiml
BAUAML ALY eldld [t 53 .
AL QLA ‘
In an objective test 4 alt
1s correct. A student dogs

any one ol the an
correct at the 6™

) v}all, rfttll d 4249 3ld UM o s
Ut ol Al ust Al 4h d-l

given in cach question and of them only one
ow correct answer of any question, Hence he ticks
andom. Find the probability that his 3" answer will be

(c) 25 %l ¢ elarll douant 7 19, s Alsdrt wiay uszyq uum
1AL 2UlML.

3 . =
that an apple is sour in a lot is 7. Find the probability that a person

apple when fifth apple is tested.
§UYA/OR

. 1 4 -
el s valdl sldust esii 9ol Wil ab ddl deuadl 3 9. dl gl esiil

d uuH 199911 Hiz d-{l Aeud- ulul.
ok o
The probability that a cricketer can hit a six on any ball is 7. Find the probability

that he will hit first six on the sixth ball.
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A1 oo ) -
Answgr the following : 6

(1) X 2 R-2udul 234 214 3l wenal,

) Describe the construction and objectives of X and R-charts
(11) AAUMS 2 dRUHs WA 92 d51ad ey, |
Distinguish between control charts for variables and attributes.
2AUYWOR
(@) Gewen Wbawii g@ianiu A siel-l 2l 53
Discuss causes of variations in production process.

(b)  ARAA wledl w8l X 2 R 2udw €3 VA dMIRL dRell weudl

n=4,A,=0.73,D,=0,D, =2.28]

fed v [T [2 3 T4 15 T6 17
X 77 176 |76 |74 (80 |81 |75
R 26 [15[18[3 [2 (0205

]:"_)raw X and R charts and state your conclusion from the
n=4,A,=0.73,D,=0,D, =2.28]
Sample No. | | 2 |13 |4 |5

X 77 |76 |76 |74 |80

R 20 |13 1.8 |3

(b)  Al&rtl st il
Answer the following :
(1) uez [eau yHl 200 (el wHel wilawell daaqail ival 1a
£9. dl np-ir{lf::lhl ‘l el

8,10, 2, 3, 4, 4, 0, 0,
Examining sa items produced during 15 days the number of
defective ite ollows :

8. 10 .2, 3, 0.8, 3,3,8and 5.
Draw

(2) %A p

= R

n =100 el dl p-2udvi-l s Al weual.
n = 100 for p-chart, find LCL and UCL.

LTPD
GALE S %M
Producer’s risk
(iv) Ales BUA
Consumer’s risk
UYWOR

: v
o [puL @sel (0.C) 45 led g ? d- apetaml weud | |
" What is an Operating Characteristic (O.C) Curve ? State its properties.
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(b) s [Resl wlorL (100, 20, 0) M2 wllusier 0, .01, 6.02. 607 (64 = 03
49 (U da&e a5 (0.C. 4%) elal. 5
Draw an Operating Characteristic (0.C) Curve for a single sampline plan
(100, 20, 0) taking proportion defectives as 0, 0.01, .02, 0.03. () (4 and ()7

2YaVOR )
() s [esd 4o (1000, 100, 1) M2 % AQL = 002 24t LTED = 605 4 =
Bes 24 Wesd Avn wHl. [e2=0.1353, ¢ ° - 0.006% &

For a Single Sampling Plan (1000, 100, 1) find producer’s risk znd consumer - g8k
when AQL =0.02 and LTPD = 0.05. [e2=0.1353, ¢ ° = (.006%] ‘

5.0 (@) AL AL ey )
Answer the following questions -
(i) [euel Adzel 2% iar [dzeid wqxs o
When does Binomial distribution tend to Poisson distr
(1) el (auel [Adzeil s =8 i [adze = 24 .
Mean and variance of negative binomial distributic
Find its parameters.

(iil) C-2U4YMHI UCL - LCL =24 &4 AL C

If UCL - LCL = 24 in C-chart, find th
(iv) 215 [Heal+ 4L (50, 10, 1) M@
HAMLAAL (p,) =0.963259 dl A

For a single sampling pla
probability of acceptance 90%2. Find AOQ and ATI

(b) Al WAl {;&Hl‘llbl

Answer the following tio ef : |
(i) 225 MA~Mi A51 dotarl oleadldl ey Az 2 [RAzemn Suas
s3A1ML 2L

-

of success changes from tnal to tnal which distrnibution

Al [Adzetl o Belezel AU
mples of discrete probability distribution.

IR »udv 541 [Adzel Guz AAEld 9 7

charts are based on which distribution ?
watizs{ld dperdl (el Al st A AL
Give the name of founder of statistical quality control.

v) s (et 4% (N, n, C) #AdlL

In Si ’ C).
Explain single sampling plan (N n, | |
(vi) w2 vl el 9, cz wHerdl wlgla-dl Aty 5.

When proportion of defective , then probability of accepting a lot

v)
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